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1) Asainplé of 16 students finds that the average age 1s 22 years, All student ages have a standard
dovmhcgn of 6 years, Construct a 95% confidence mler\ml for the average age of students.
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2) Construct a 99% confidence iiterval for the population mean lifetime of fluorescent lightbulbs, Assume
the papulation has a Nonval distribution with a-standard deviation of 31 hours. A sample of 16
fluorescent light bulbs have a mean life of 645 hours. o
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A sample of 100 bean cans showed an ayerage we:ght of 13 ounces. If dll been cans have a standard
deviation of 0.8 Ounces. construct an 85% confidence interval for the mean weight of the popiilation._..
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4) A researcher wants to know the percentage of Columbius resndents who would favor atwo cent increase
in the gasoline tax to fund road repairs. /A random sample of 900 residents finds 278 favor the i mcrease
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b) Find an 80% conf“dence mterva for fhe parameter +D Pﬁ,ﬂ & 4 mw@,ﬂ .
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5) Arandom sample of female college students has a mean height of 64.5 inches, which is greater than the
63-inch mean height of all adult American women. Determine if each bold-faced number is a
parameter or a stdttstlc
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a) Spec&fy the parameter and statistic for this problem.




a. Find the z-score corresponding to a scor‘e of .24,
b. Fmd the percennle for a smre of 24,
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7) The Jackson teiplets, Jenny, John, and James are in dlffere“’f ‘math classes at Cify High, ‘On their final
exams, Jehny scoredf82 oh atest With . i of 76 and a standard devi ion of 7. ﬂ)ohn scored 77
'on & test with a meah of 72 dnd a standar de\natlon of iO 5y and Ja,,.,, Scored 78 on atest with d
mean of b6 4hd & staridard deviation of10,5, Who Had the best z-score and what‘ does thls say about
that mplet in relation to their test score in relatlon to their peets?
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8) Some Test scores Were Normally distributed with & mean of 55 and a standard devxatxon of 5
Approximately what percentage of the scores fie betWeen 45and 657
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9) The helghts of a ¢ertain group of adult parrots were found to be Normally distributed. The mean

height is 36 cm with a stahdard deviation of 8 em. Ina group of 1000 of these birds, how many waould

be fnore-than 28 em tall?
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10} The life expectancy (in hours) of a fluorescent tube is normally dlstributed thh a mean of 5000 &nd a
standard deviation of 500, Find the probability that a tube lasts for at least 5650 hours.
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11) A potato chip company sells & small bag of chips that has & friean volutwe of 1.75 ounces with a
stahdaird deviation of 0.15 ounges. What is the probability thata bag containg at most 1.84 ounces?
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